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PAPER – III 

GEOGRAPHY 

Note : Attempt all the questions. Each question carries two (2) marks.  

SÔ¨¦ : GÀ»õ ÂÚõUPÐUS® Âøh¯ÎUPÄ®. JÆöÁõßÔØS® Cμsk (2) ©v¨ö£sPÒ.  

1. Earth's average orbital speed is about 
1) 10 kilometers per second 2) 20 kilometers per second  
3) 30 kilometers per second 4) 40 kilometers per second 

G+kp ruhrhp jdf;F ntspNa ve;j Ntfj;jpy; Rw;wp tUfpwJ? 

1) xU tpdhbf;F 10 fpNyh kPl;lh; 2) xU tpdhbf;F 20 fpNyh kPl;lh 

3) xU tpdhbf;F 30 fpNyh kPl;lh 4) xU tpdhbf;F 40 fpNyh kPl;lh 

2. The long deposits of eroded glacial material which are formed by sub-glacial streams 
that deposit material are known as 
1) Moraines  2) Kames 
3) Eskers  4) Drumlins  

gdp mhpg;G nghUs;fs; ePz;l ehs; jq;fpapUe;J xU Jiz gdpf;fl;b Xilahf 
khWk;NghJ Vw;gLk; vQ;rpa nghUSf;F vd;d ngah;? 

1) nkhiud;];  2) fhkp]; 

3) v];fh;];  4) l;uk;ypd;]; 

3. The book titled ‘The Morphology of the Earth’ is written by 
1) W. Penck  2) L.C. King 
3) E.H. Brown  4) W.M. Davis  

G+kpapd; khh;Ngyh]p vd;w Gj;jfj;ij vOjpath; ahh;? 

1) W. Ngd;f;  2) L.C. fpq; 

3) E.H. g;utd;  4) W.M. Nltp]; 

4. Eustatic concept was propounded by 
1) King   2) Penck 
3) Suess  4) Brown  

A+];lhbf; vd;w fUj;ij $wpath; ahh;? 

1) fpq;   2) ngd;f; 

3) A+rp];  4) g;uTd; 
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5. The area that is above water at low tide and under water at high tide  is called 

1) Backshore   2) Offshore 

3) Foreshore  4) Tidemark  

jz;zPhpd; Nky; tUk; rhjhuz miyAk; jz;zPh; fPo; Vw;gLk; Ntfkhd miyfs; 

Vw;gLk; ,lj;ij vt;thW miof;fpNwhk;? 

1) fiufspd; gpd;Gwk; 2) fiuapdila 

3) fiuf;F mg;ghy; 4) miyFwp itj;j ,lk; 

6. Which of the following is considered as the first step for a number of geomorphic 
processes? 

1) Fluvial erosion  2) Wind action    

3) Weathering 4) Mass movement  

tpyq;Ffs; kw;Wk; jhtuq;fs; fl;likg;G nray;Kiw fpo;fz;ltw;wpy; vtw;wpypUe;J 

njhlq;FfpwJ. 

1) ejpfspd; mwpg;G 2) fhw;wpd; tpisTfs; 

3) fhy epiyapd; rpijTfs; 4) nghUs;fs; cs;slq;fpa nray;fs; 

7. The Siwalik Hills have been made out of the debris coming from the 

1) Himalayas  2) Sutlej valley   

3) Ganga Valley 4) Southern Peninsula  

rpthypf; kiyg;gFjp ve;j ,lj;jpd; rpijTfshy; cUthf;fg;gl;lJ. 

1) ,kakiy  2) rpl;y]; gs;sj;jhf;F 

3) fq;if gs;sj;jhf;F 4) njw;F jPgfw;gk; 

8. The zonal soil type of peninsular India belongs to 

1) Red Soils  2) Yellow Soils   

3) Black Soils  4) Older alluvium  

,e;jpa jPgfw;g kz;lyj;jpd; kz; ve;j tifia Nrh;e;jJ 

1) rptg;G kz  2) kQ;rs; kz; 

3) fUg;G kz;  4) gioa tz;ly; kz; 
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9. Laplace theory of Origin of the earth is known as 
1) Nebular Theory 2) Inter Stellar Dust Hypothesis 
3) Big Bang Theory 4) Tidal Hypothesis  

G+kpapy; yhgpNy]; vd;w  Nfhl;ghl;il vjDld; xg;gpLfpwhh;? 

1) E}g;gpyhh; Nfhl;ghL 2) ,d;lh; ];Byh; l];l; i`ghjPr]; 
3) gpf;Ngq; jpahp 4) illy; i`ghjPr];; 

10. Rossby waves are formed due to 
1) polar air move towards the equator 
2) tropical air move toward poleward 
3) both 1 and 2  
4) none of the above  

Nuh];ig miyfs; vjdhy; cUthFfpwJ? 

1) tlJUtk; my;yJ njd; JUtj;jpypUe;J epyeLf;Nfhl;il Nehf;fp tPRfpwJ 
2) ntg;g kz;ly fhw;W tlJUtk; njd;JUtj;ij Nehf;fp tPRfpwJ 
3) ,uz;Lk; - 1 kw;Wk; 2 
4) Nkw;Fhpa vJTk; ,y;iy 

11. Norway experiences warmer temperatures and more precipitation than expected at 
such northern latitudes. It’s because of 
(i) Prevailing westerlies 
(ii)  Jet streams  
(iii)  Gulf stream current 
(iv)  Inter-tropical convergence  

Select the correct answer using the codes given below. 
1) (i) and (iv) 
2) (iii) and (iv) 
3) (ii) and (iii) 
4) (i) and (iii) 

ehh;Nt ehL ntg;gkhf Njhd;Wtjw;F fhuzk; ,e;ehL epyeLf;Nfhl;bypUe;J njw;F 
jpirapy; nga;Ak; kio gdp Kjypatw;wpd; fhukhftk; kw;Wk; 

(i) Nkw;F fhw;W mOj;jk; 
(ii) mjpNtfkhd ePh; Xilfs; 
(iii) ngUk;ghd;ikahd epyk; ,lyhy; $lg;gl;Ls;sJ 
(iv) ,ilg;gl;l ntg;g kz;ly fhw;W xU ikaj;ij Nehf;fp nry;Ytjhy; 

R÷Ç öPõkUP¨£mkÒÍ SÔ±miÀ EÒÍ \›¯õÚ  Âøhø¯ ÷uºÄ ö\´P. 

1) (i) ©ØÖ® (iv) 

2) (iii) ©ØÖ® (iv) 

3) (ii) ©ØÖ® (iii) 

4) (i) ©ØÖ® (iii) 
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12. In Northern Hemisphere, the wind balances the pressure force and the Coriolis force 
by rotating —————— around a low pressure system 

1) East to West 2) West to East 

3) Clockwise  4) Counter clockwise  

fPNo nfhLf;fg;gl;l FwpaPLfis nfhz;L rhpahd tpilia fz;Lgpb G+kpapd; tlf;F 

gFjp tPrpfpd;w mOj;jkhdJ kw;wk; nfhunayp]; mOj;jk; khwpkhwp tUtjhy; ------------- 

rw;wp Fiwe;j mOj;j fhw;wYj;jk; cUthfpwJ 

1) fpof;fpy; ,Ue;J Nkw;F 2) Nkw;fpy; ,Ue;J fpof;F 

3) ,lJ GukpypUe;J tyJGuk; 4) tyJ Guj;jpypUe;J ,lJGuk 

13. The Thornthwaite’s climate classification system was developed initially based on 

1) Temperature distribution 

2) Biological groups  

3) Albedo and rate of snow melting 

4) Precipitation and thermal efficiency  

jhd;j;ntapl; gUtfhyk; ghFgLj;Jk; Fiwia vt;thW Fwpg;gpLfpwJ. 

1) ntg;g epiy gfph;T Vw;gLk; khw;wk; 

2) caphpzq;fis ifg;gLj;Jtjd; %yk 

3) my;gpNlh kw;Wk; gzp cUFk; 

4) nga;Ak; kioahdJ 1 gzpNky; Nehf;fp vOk; ntg;gf;fhw;Nwhl;lj;jhy; 

14. The Corioliseffect is caused by the 

1) Pressure gradient        

2) Earth’s revolution        

3) Earth’s rotation 

4) Earth’s rotation and revolution  

nfhhpNayP]; jhf;fk; vjdhy; Vw;gLfpwJ? 

1) Vw;w ,wf;f G+kpapd; Nky; Vw;gLk; khw;wk; 

2) G+kp Row;r;rp 

3) G+kp epfor nra;jy; 

4) G+kp epfo;T kw;Wk; Row;r;rp 
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15. ‘Willy willies’ are tropical revolving storm in 

1) Western arctic Ocean  2) Atlantic Ocean   

3) Antarctic Ocean  4) North-west Australian waters  

tpy;yp tpy;yp]; ntg;g kz;ly mOj;jk; Gaiy vq;f cUthf;Ffpwj? 

1) Nkw;F mh;l;bf;flypy;; 2) ml;yhz;bf; flypy; 

3) mz;lhh;f; flypy; 4) tlf;F Nkw;F M];l;Nuypad; flypy; 

16. Troposphere is the hottest part of the atmosphere because 

1) It is closest to the sun 

2) Heat is generated in it 

3) It is heated by the Earth's surface 

4) There are charged particles in it  

thA kz;lyk; Vd; kpf ntg;gkhf fhzg;gLfpwJ 

1) #hpaDf;F mUfhikapy; cs;sjhy; 

2) ntg;gk; thA kz;lyj;jpy; cs;Ns cUthdjhy; 

3) G+kpapd; Nky; Njhw;wj;jpd; cs;s ntg;gk; 

4) mq;F ntg;gj;ij Njf;fpitf;Fk; xU gFjp cs;sJ. 

17. The stabilization of the atmosphere in its present form took place in the————— 

period. 

1) Paleozoic  2) Archean 

3) Cambrian  4) Pleistocene  

Gtpapay; epiy cs;s Nfhy;fisAk; tha;g;gpy;yhky; Mf;FtJ vJ? 

1) ghypnahNrha;f 2) Mh;rpad; 

3) Nfk;gpuad  4) gpyp];Nlnrd 
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18. The average depth of equatorial-counter current is 

1) 50m   2) 100m 

3) 150m   4) 200m 

epyeLf;Nfl;bd; ruhrhp Mok; kWgbAk; mjd; fhw;w tpr;R msT 

1) 50m   2) 100m 

3) 150m   4) 200m 

19. Gulf of Alaska is in ——————— Ocean 

1) Pacific  2) Atlantic 

3) Indian  4) Arctic  

myhf;];fhit Rw;wpAs;s fly; gFjp vJ? 

1) grpg;gpf;fly; 2) ml;yhz;bf;fly; 

3) ,e;jpaf;fly; 4) Mh;bf;fly; 

20. The organisms that can synthesise their food by interacting with their environment 

are called 

1) Heterotrophs 2) Autotrophs 

3) Self dependent 4) Consumers 

Rw;wGw #o;epiyfsf;F Vw;w czT nghUs;fs; kw;Wk; caph;g;nghUs;fis ,izf;f 

$ba it vit? 

1) n`l;Nul;ug;]; 2) Ml;Nlhl;ug;]; 

3) jd;idNa rhh;e;J ,Uj;jy; 4) czT nghUis Efh;Nthh; 

21. Which one of the following pairs are correctly matched? 

1) Latosols – scrubs 2) Chernozem – savannas 

3) Sierozen – selvas 4) Podzol – coniferous  

fPNo nfhLf;fg;gl;l ,izfspy; vJ rhpahf cs;sd. 

1) Nyl;Nlnry ;- ];fphpg;];  2) öPº÷Úõé® - rthdh]; 

3) rpnunrd; - nry;th];  4) g^nrhy ;-  PõÛ÷£÷μõ¯ì 



G  M0803 9

22. The correct sequence of the natural regions of Brazil from north to south is 

1) Amazon Basin, Brazilian Highlands, Campos, Mato Grasso Plateau 

2) Amazon Basin, Mato Grasso Plateau, Brazilian Highlands, Campos 

3) Brazilian Highlands, Mato Grasso Plateau, Amazon Basin, Campos 

4) Mato Grasso Plateau, Campos, Brazilian High Lands Amazon Basin  

tlf;fpypUe;J njw;F gpNurpYf;F ,ilNa cs;s ,aw;ifahd gfjpfis thpirgLj;Jf. 

1) mik[hd; Ngrpd;> gpNuhrpypad; øí÷»sm; >nfk;Ng];> khd;nlfpuN] gpNyl;Nl 

2) mik[hd; Ngrpd>; khd;nlfpuN] ¤Ím÷hõ> gpNurpypad; øí÷»sm> Nfk;Ngh]; 

3) gpnurpypad; øí÷»sm> ©õ÷h fpuh];N] ¤Ím÷hõ> mikrhd; Ngrpd;> Nfk;Ngh]; 

4) khd;Nl fpuh];N] ¤Ím÷hõ> Nfk;Ngh];> gpnurpypad; øí÷»sm> mikrhd; Ngrpd; 

23. With which one of the following is ‘Maitri’ associated? 

1) HYV of rice 2) SAARC 

3) Indo-Russian Treaty 4) Antarctica Research Centre  

fPNo nfhLf;fg;gl;litfspy; nkapl;hp vd;w thh;j;ij vjDld; njhlh;GilaJ? 

1) HYV mhprp  2) rhh;f; 

3) Cß÷hõ& u\;ah cld;gbf;if 4) mz;lhh;l;bf; Muha;r;rp ikak; 

24. The average salinity between 50° to 70° S latitudes is  

1) 33% - 34 %  2) 34% - 35 % 

3) 35% - 36%  4) 30% - 31% 

ruhrhp 50 •uÀ 70 cg;Gj;jd;ik msT vd;d? 

1) 33% - 34 %  2) 34% - 35 % 

3) 35% - 36%  4) 30% - 31% 
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25. Match list I with List II and select the correct answer using the codes given below the 

lists: 

 List I List II     

 (Philosophical Approach)                                     (Scholars) 

(a) Behaviouralism 1. R. J. Peet 

(b) Humanism 2. I. Burton 

(c) Quantitative Revolution 3. W. Kirk  

(d) Radicalism 4. Y. F. Tuan 

Codes : 

 (a) (b) (c) (d) 

1) 4 1 3 2 

2) 3 2 4 1  

3) 4 3 1 2 

4) 3 4 2 1 

fPNo nfhLf;fg;gl;l gphptpy; ve;j gphpt rhpahf nghUj;jg;gLfpwJ. 

 gphpT - 1 gphpT - 2     

(a) gof;ftof;fq;fs; 1. R.J. ¥m; 

(b) kdpjj;jd;ik 2. I gh;l;ld; 

(c) mjpf msT Row;rp 3. W. fph;f;  

(d) mjpf msT vjph;f;Fk; 4. Y. F. k¯ß; 

SÔ±kPÒ : 

 (a) (b) (c) (d) 

1) 4 1 3 2 

2) 3 2 4 1  

3) 4 3 1 2 

4) 3 4 2 1     
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26. The term denoted by the American geographer Richard Hartshorne that is the study 
of relations between things in a particular region is 

1) Chorography 2) Chora 

3) Chorology  4) Ontology  

mnkhpf;fhtpd; Gtpapay; ty;Ydh; hpr;rh; fhh;l;Nrh;d; ,lj;jpw;F Vw;wthU mq;Fs;s 
tpyq;ffspd; jhtuq;fs; tsh;fpd;wd vtw;iw Fwpg;gpLfpwhh;. 

1) Nfhuhfpuhgp 2) Nfhuh 

3) Nfhuhyh[p  4) Mdl;;Nlhyh[p 

27. Who is put forward the statement of ‘History is a narrative and geography a 
description’? 

1) Kant   2) Bonn’s 

3) Semple  4) Ratzel  

fPNo nfhLf;fg;gl;lth;fspy; tuyhW vd;gJ nrhy;Yfpw tp\ak; Gtpapay; vd;gJ 
tpthpf;f$ba xd;w vd;w ahh; $Wfpwhh;? 

1) fhd;l;  2) G+d;]; 

3) Nrk;gpy;  4) ul;nry; 

28. To which country did Jean Brunches belong 

1) France  2) UK 

3) USA   4) Germany  

ve;j ehL [pd; g;ud;r];; cw;gj;jp nra;fpwJ. 

1) gpuhd;];  2) If;fpaehLfs 

3) mnkhpf;fh  4) n[h;kdp 

29. Who introduced the idea of a sundial known as ‘Gnomon’ into the Greek World? 

1) Homer  2) Thales 

3) Anaximander 4) Hecataues  

rd;bay; vd;w fUj;ij rpndhnkk; vd;W fpNuhf;f cyfj;Jf;F czh;j;jpath; ahh;? 

1) `kh;   2) Njy;]; 

3) mdf;]pke;jh; 4) n`f;l;lh]; 

30. The first Greek Scholar to have drawn a meridian on the world map 

1) Herodotus  2) Plato 

3) Aristotle  4) Erastosthenes  

Kjy; fpNuf;f Muha;r;rpahsh;; cyfg;glj;jpy; nkh;bd; vd;w Nfhl;il fz;Lgpbj;jth; ahh;? 

1) `pNuhlhl;]; 2) gpNsl;Nlh 
3) mhp];l;lhl;by; 4) ,uh];Nlhjpd;]; 
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31. An approach that privileges observation and experimentation over theory is 

1) Epistemology 2) Empiricism 

3) Hegemony  4) Idiographic 

ftdpf;Fk; jd;ik ghpNrhjid nra;Ak; Kiwfs; kw;Wk; Nfhl;ghl;il fPo;tUgtw;wpy; 
vit czh;j;Jfpd;wd. 

1) vgp];lkhy;[p 2) vk;gphprp\k; 

3) n`[pNkhdp 4) IbNahfpuhg;gpf; 

32. Demographic structure of a nation is brought out clearly by 

1) Bar graph  2) Bar diagram 

3) Pictorial method      4) Age –sex pyramid  

xU ehl;bd; xl;Lnkhj;jkhd Gs;sp tptufzf;nfhLg;Gfis vjd; %yk; ehk;  
mwpfpNwhk;. 

1) ghh; fpuhg;  2) ghh; ilfpuhk; 

3) gpf;Nlhhpay;  Kiw 4) taJ – nrf;]; gpukPL 

33. Physiological density is 

1) Population per unit of cultivable land 

2) Working population per unit of land 

3) Agricultural population per unit of land 

4) The density of livestock per unit of land  

kf;fs; njhif neUf;fk; vd;gJ 

1) xU gFjp tptrha epyj;jpd; kf;fs; njhif 

2) xU gFjp epyj;jpy; Ntisghh;f;Fk; kf;fs; njhif 

3) xU gFjp epyj;jpy; cs;s tptrha kf;fs; njhif 

4) xU gFjpapy; epyj;jpy; fhy;eilapd; msT 

34. Necropolis and Eopolis are terms used in the classification of cities by 

1) Taylor  2) Mumford 

3) Berry   4) Harris  

epf;Nuhghyp]; kw;Wk; ,Nahghyp]; ,it ,uz;L thh;j;ijfs; efuq;fSila 
NtWghLfis tpsf;FfpwJ vd;W $wpath;;? 

1) nla;yh;  2) kk;Nghh;;l; 

3) ngh;hp   4) `hhp]; 
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35. ‘Wedge like expansion’ is the example of 

1) Concentric zone model 2) Sector model 

3) Central place theory 4) Multiple nuclei theory 

ntl;[; tpUk;Gk; tphpthf;fk; vjDila vLj;Jf;fhl;L 

1) fhd;nrd;hpf; N[hd;khly; 2) nrf;lhh; khly; 

3) nrd;uy; gpNy]; jpahp 4) ky;bgpy; epA+fpyp jpahp 

36. The human islands in the deserts are called 

1) Oases  2) Yurts 

3)  Ergs   4) Regs 

kdpj tuyhw;wpd; Njhw;wj;jpd; Kjy;gb vd;W vtw;iw fUJfpNwhk;. 

1) Xahr];  2) A+h;l;]; 

3) vh;f;];  4) Hpf;]; 

37. Who studied the urban economic base using the concept of basic and non-basic 
activities? 

1) Haggerstrand 2) Harris 

3) Alexander  4) Nelson  

mbg;gil efu nghushjhuj;jpd; nfhs;iffis vjd; njhlh;r;rpahfTk; kw;Wk; 
njhlh;r;rpapd;ik gw;wp $wpath; ahh;? 

1) N`fh;];uhd;L 2) `hhP]; 

3) mnyf;rhz;lh; 4) ney;rd; 

38. The first stage of the history of human evolution is 

1) Australopithecus 2) Homo sapiens 

3) Rampithecus 4) Homo erectus  

kdpj tuyhw;wpd; Njhw;wj;jpd; Kjy;gb vd;w vtw;iw fUJfpNwhk;. 

1) m];l;uhNy gpj;jpf]; 2) N`hNkh Nrgpad;]; 

3) uhk;gpj;jpf]; 4) ÷íõ÷©õ vul;l]; 

39. High level managerial and executive administrative position falls in the category of 

1) Primary activities 2) Secondary activities 

3) Tertiary activities 4) Quaternary activities  

cah;ju eph;thf jpwik kw;Wk; nfhs;iffis epiwNtw;Wk; jpwd; vjd; 
mbg;gilapy; mikfpwJ. 

1) Kjd;ikahd nray;ghLfs; 2) ,uz;lhk; tifahd nray;ghLfs; 

3) %d;whk; tifahd nray;ghLfs; 4) ehd;fhk; tifahd nray;ghLfs; 
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40. What is the common practice involved in shifting cultivation? 

1) Use of sophisticated machinery 

2) Large scale use of fertilizers  

3) Utilization of poor soils through ploughing / fallowing 

4) Maximum use of animal power  

khw;W tptrhaj;;jpd; fPNoAs;stw;wpy; vJ nghJthf cs;sJ. 

1) jukhd etPd fUtpfis gad;gLj;Jjy; 

2) mjpf mstpy; cuq;fis gad;gLj;Jjy; 

3) cotpw;fhf jukw;w kz;iz gad;gLj;Jjy; 

4) mjpf mstpy; tpyq;Ffis gad;gLj;Jjy; 

41. The most important centre of aeroplane manufacturing in the  U.S.A is 

1) Detroit  2) Los Angeles  

3) Wasighnton 4) Philadelphia  

cah;e;j mstpYs;s eph;thfk; nghWg;G kw;Wk; nfhs;iffis epiwNtw;Wk; jd;ik vjd; 
mbg;gilapy; mikfpwJ. 

1) nll;uha;L  2) yh]; VQ;ry; 

3) thrpq;ld;  4) gpynly;gpah 

42. Which of the following statements regarding cotton cultivation in China are correct? 

1) A growing season of about 200 days free from frost 

2) Intermittent rainfall during harvesting period benefits higher yields 

3) Rainfall of 500 to 1500 mm during growing season  

4) Mechanized farming and heavy irrigation is a common feature in the east  

irdhtpy; gUj;jp cw;gj;jp nra;tjpy; fPNo nfhLf;fg;gl;ltw;wy; vJ rhpay;y 

1) gUj;jp cw;gj;jp nra;tjw;F 200 ehl;fs; ciwgdpapypUe;J tpyfpapUf;f Ntz;Lk; 

2) tpl;Ltpl;L kionga;jhy; mjpf msT gUj;jp cw;gj;jp nra;ayhk; 

3) gUj;jp tsh;f;Fk; NghJ kioapd; msT 500 to 1500 mm ,Uf;f Ntz;Lk 

4) ,ae;jpukakhf;fg;gl;l tptrhak; mjpf msT ePh;tsk; ,itfs; fpof;F jpirapd; 
Kf;fpa Fzhjprakhfp cs;sJ. 

43. The greatest and the most productive industrial region in Asia is 

1) Southern Honshu 2) Mumbai   

3) Shangai region 4) Singapore  

Mrpahtpy; mjpf msT cw;gj;jp nra;af;$ba njhopypd; efuk; vJ? 

1) rjh;d; md;R 2) Kk;ig 

3) rq;if gFjp 4) rpq;fG+h; 
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44. Weber’s model of industrial location has been usefully applied to interpret the 

changing location of the British 

1) Iron and Steel industry 

2) Cotton textile industry 

3) Ship building industry 

4) Heavy engineering industry  

ntg;gh;]; khlypd; efuj;jpd; njhopy; rhiyfspd; mik,lq;fs; ,q;fpyhe;jpd; njhopy; 

mikg;G ikaq;fspd; khw;wj;jpw;F fpo;fz;ltw;wpy; vit Vw;gLj;jpaJ. 

1) v‡F ,Uk;G njhopy;rhiyfs; 

2) gUj;jp ifj;njhopw;rhiyfs; nghUs;fspd; njhopy;rhiyfs;  

3) fg;gy; fl;Lk; njhopy;rhiyfs; 

4) mjpf jukhd ,ae;jpuq;fs; nra;Ak; njhopy; rhiyfs; 

45. Soft wood is mainly supplied by 

1) Coniferous forest 2) Deciduous forest 

3) Siberian Forest 4) Central American forest  

kpUJthd kuq;fs; ve;j fhlfspypUe;J fpilf;fpd;wd? 

1) fhdptpuy; fhLfs; 2) nlrplt]; fhLfs; 

3) irgPhpd; fhLfs; 4) kj;jpa mnkhpf;fh fhLfs; 

46. The average size of landholding of Scheduled Tribes is 

1) Higher than the Scheduled Castes 

2) Lower than the Scheduled Castes 

3) Similar to those of the Scheduled Castes 

4) Higher than the other backward classes  

goq;Fbapd kf;fs; XusTf;F vt;tsT epyq;fis itj;J ,Uf;fpwhh;fs; 

1) jho;j;jg;gl;l kf;fistpl epyk; mjpfkhf itj;J cs;shh;fs; 

2) jho;j;jg;gl;l kf;fistpl Fiwe;j msT epyk; itj;Js;shh;fs; 

3) jho;j;jg;gl;lth;fSf;F ,izahf 

4) gpd;jq;fpa tFg;gpdh;fistpl mjpfkhf epyq;fis itj;Js;shh;fs; 
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47. ‘Lower class’ culture is an example of: 

1) Counter culture 2) Contra-culture 

3) Sub-culture 4) Dominant culture  

jho;j;jg;gl;l kf;fspd; fyhr;rhuk; vd;gJ vjdpd; vLj;Jf;fhl;L 

1) ,izahd fyhr;rhuk; 2) khWgl;l fyhr;rhuk; 

3) gpd;jq;fpa fyhr;rhuk; 4) NkNyhq;fpa fyhr;rhuk; 

48. Celtic, Germanic and Ural-Altaic language groups migrated to west because 

1) The expanding Chinese Empire disrupted the life of nomadic groups 

2) The grasslands of Central Asia dried up 

3) They were pushed westwards when the eastern most groups moved west 

4) These were forced migrations which resulted from the slave trade  

rpy;bf;> nrh;khdpf; kw;Wk; cuy; - my;ilf; nkhopfs; NgRfpd;w kf;fs; Nkw;F gFjpia 
Nehf;fp Fbngah;fpd;whh;fs; 

1) tphpthf;fk; mile;j irdh NguuR ehNlhbahd kf;fspd; tho;f;ifia ghjpg;gila 
nra;jy; 

2) kj;jpa Mrpahtpd; Gy;ntspfs; twz;ljhy; 

3) mth;fs; Nkw;F Gwkhf js;sg;gl;ld vg;nghOJ vd;why; mth;fs; fpof;fpypUe;J 
ngUk;ghd;ikahd kf;fs; Nkw;if Nehf;fp nrd;w NghJ 

4) ,e;j tifahd ,lkhw;wk; kf;fs; kj;jpapy; mbik thzpgj;ij Vw;gLj;jpaJ. 

49. Who said “water is incomparably India’s greatest treasure and were this generally 
turned into account she would be in the highest state of temporal prosperity”? 

1) Sir Arthur Cotton 2) KL. Rao 

3) SV. Ramamurthy 4) WL. Voorduin  

jz;zPh; vd;gJ xU ,izapy;yhj nrhj;J mJ ,g;nghOJ xU khepyj;jpd; jw;fhypf 
tsj;ij Fwpg;gpLfpwJ vd;W ve;j Mrphpah; Fwpg;gpLfpwhh; 

1) rh; Mh;jh; fhl;ld; 2) KL. uht; 

3) SV. ,uhk%h;j;jp 4) WL. Ch;jpd; 

50. Which of the following is a result of rapid industrialization and urbanization? 

1) Urban decay 2) Rural depopulation  

3) Rural degeneration 4) Urban depopulation  

njhopy; ikaj;jpd; tsh;r;rpahYk; efuq;fspd; Njhw;wj;jpdhy; Vw;gl;l tpisTfs; vd;d? 

1) efuk; kq;fpaJ 2) fpuhk kf;fs; rhpT 

3) fpuhk tPo;r;rp 4) efu kf;fs; FiwT 
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51. Name the most accurate method of dating human fossils. 

1) Pollen analysis 2) Carbon dating  

3) Sediment dating 4) All of these 

kdpjdpd; kiwTf;F gpwF gpd;gw;wgl$ba fhyq;fs; vit? 

1) ÷£õ»ß ; mdhyp]]; 2) fhh;gd; Nll;bq; 

3) nrbnkd; Nll;bq; 4) NkNy cs;sit midj;Jk; 

52. The task to explain or account for the variation over space of the voting decision lies 
with 

1) Urban geography 2) Cultural geography 

3) Political geography 4) Social geography  

cyfj;jpy; thf;nfLg;gpd;gb KiwahdJ vij itj;J eph;zapf;fg;gLfpwJ? 

1) efh;Gu Gtpapay; $Wfs; 2) gz;ghl;L Gtpapay; $Wfs; 

3) murpay; Gtpapay; $Wfs; 4) rKjha Gtpapay; $Wfs; 

53. Who among the following divide the earth into major natural regions according to 
climatic parameters? 

1) Ptolemy  2) Strabo 

3) Herbertson 4) Ritter 

G+kp fhy epiyfisfspd; NtWghLfis nghUj;J xt;nthU ,aw;if gFjpfis G+kp 
gyghfq;fyhf gphpf;fpd;wd vd;W $wpath; ahh;? 

1) lhykp  2) ];l;uNgh 

3) n`h;gh;];ld; 4) Hpl;lh; 

54. The theory of Multi-nuclei is formulated by 

1) Haris and Ullman 2) Homer 

3) Burgees   4) Bery 

ky;l;b –––––– ePA+fpyp  vd;w nfhs;if cUthfg;gl;lJ 

1) `hhp]; kw;Wk; cs;nkd; 2) N`hkh; 

3) gh;fP];  4) ngh;hp 

55. Functional Region are defined by ———–———— criteria 

1) Physical   2) Social 

3) Static  4) Dynamic  

eilKiwgLj;jg;gl;l gpuhe;jpak; vd;W ve;j fhuzpia Fwpg;gpLfpNwhk;. 

1) Gtpapay;  2) rKjhak; 

3) tsh;r;rpapd;ik 4) tsh;r;rpahd 
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56. When was the  74th  Amendment to the constitution  came into force? 

1) 1993   2) 1995 

3) 1997   4) 1999  

,e;jpa murpay; mikg;gpd; 74 Mk; rl;lk; ve;j Mz;by; nfhz;Ltug;gl;lJ 

1) 1993   2) 1995 

3) 1997   4) 1999 

57. The transhumance is still an important component of the socio-economic life of the 
people in regions of 

1) Andaman and Nicobar Islands 2) Orissa 

3) Jammu and Kashmir 4) Lakshadweep Islands 

l;uhd;rnkd;]; vd;w kf;fspd; rKjha nghUshjhu tho;f;ifapd; Kf;fpa mk;rkhf 
fUjg;gLtJ vd ve;j gFjpapy; cs;s kf;fs; $Wfpwhh;fs;. 

1) me;jkhd; epf;Nfhghh; jPTfs; 2) xhprh 

3) [k;K fh\;kPh; 4) yl;rj;jPT jPgfw;gk; 

58. In Christaller and Losch’s central place theory, regions are defined as 

1) Hierarchical systems of central places or cities 

2) Each region has a small number of large higher order cities 

3) Each region has a large number of smaller lower order cities 

4) All the above  

fphp];lhyh; kw;Wk; yh];r; kj;jpa Nfhl;ghL ve;j khfhzj;ij cWjpgLj;JfpwJ 

1) fPo;kl;lj;jpypUe;J Nky;kl;lj;J ika gFjpapy; cauf;$ba efuq;fs; 

2) xt;nthU khefuKk; FWfpa vz;zpf;ifapy; cah;e;j mstpy; efuq;fs; 
mikfpd;wd 

3) xt;nthU khefuq;fSk; mjpf mstpyhd Fiwe;j efuq;fs; cs;sd 

4) NkNy cs;sit midj;Jk; 

59. National Institute of Rural Development and Panchayati Raj is located at 

1) Mumbai  2) Dehradun 

3) Hyderabad  4) Kolkata  

fpuhkg;Gw tsh;r;rp gQ;rhaj;J uh[; Nkk;ghl;L jpl;l {ÖÁÚ®; G[S Aø©¢xÒÍx? 

1) Kk;ig  2) ÷hPμhß 

3) øíuμõ£õz 4) nfhy;fj;jh 
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60. What is the total estimated length of Sahyadris which run parallel to the west coast of 
India? 

1) 1,600 km  2) 16,000 km 

3) 600 km   4) 160 km  

Nkw;F flw;fiu Xukhf ,izahf nry;yf;$ba rahl;hp]; kiynjhlh;r;rp vj;jid 
fpNyhkPl;lh; J}u mstpy; gue;Js;sJ. 

1) 1,600 km  2) 16,000 km 

3) 600 km   4) 160 km 

61. Which among the following passes connects Himachal with Tibet / China? 

1) Traill’spass 2) Thanglapass 

3) Shipkilapass 4) Zojilapass 

,ka kiyapypUe;J jpngj; topahf irdh ÷£õ ;́ Nruf;$ba ghij vit? 

1) l;iuay; top 2) jq;fyh top 

3) rpg;fpyh top 4) ÷áõâ»õ top 

62. The National Dairy Development Board (NDDB) was started in the year 

1) 1951   2) 1965 

3) 1977   4) 1981  

ehl;bd; ghy;gz;iz  tsh;r;rp ikak; ve;j tUlj;jpy; Jtq;fg;gl;lJ? 

1) 1951   2) 1965 

3) 1977   4) 1981 

63. EPZ  is expanded as 

1) Economic Project Zone 

2) Environmental Protection Zone 

3) Economic Powerful Zone 

4) Export Processing Zone  

EPZ ,tw;wpd; tphpthf;fk; vd;d? 

1) nghUshjhu jpl;l kz;lyk; 

2) Rw;Wg;Gu #oy; jpl;l kz;lyk; 

3) nghUshjhu Kd;Ndw;wk; mile;j kz;lyk; 

4) Vw;Wkjpia tsg;gLj;Jk;; kz;lyk; 
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64. Gulmarg is a hill station in 

1) Himachal Pradesh 2) Jammu and Kashmir 

3) Maharashtra 4) Tamil Nadu  

Fy;kh;f; vd;w kiygFjp vq;Fs;sJ. 

1) ,kakiy gFjp 2) [k;K kw;Wk; fh\;kPh; gFjp  

3) kfhuh\;buh khepyk; 4) jkpo;ehL 

65. Which of the following is not a peninsular river? 

1) Narmada  2) Krishna 

3) Mahanadi  4) Yamuna  

jPgfw;gk; my;yhj ,lk; vJ? 

1) eh;kjh  2) fpU\;zh 

3) kfhejp  4) aKdh 

66. The Aravalli Range run accross which of the following Indian states of 

1) Gujarat, Rajasthan, Punjab and Delhi 

2) Rajasthan, Madhya Pradesh, Punjab and Delhi 

3) Gujarat, Rajasthan, Haryana and Delhi 

4) Gujarat, Rajasthan, Uttar Pradesh and Delhi  

Muty;yp kiyj;njhlh;fs; ,e;jpahtpy; ve;j khepyq;fspy; nry;fpd;wd. 

1) F[uhj;> ,uh[];jhd; gQ;rhg; kw;Wk; nly;yp 

2) ,uh[];jhd;> kj;jpa gpuNjr gQ;rhg; kw;Wk; nly;yp 

3) F[uhj;> ,uh[];jhd;> `hpahdh kw;Wk; nly;yp 

4) F[uhj;> ,uh[];jhd;> cj;jpugpuNjrk; kw;Wk; nly;yp 

67. Which among the following river is said to be the Life-line of Sikkim? 

1) Sankoshriver 2) Brahmaputra river 

3) Teestariver 4) Dharlariver 

ve;j ejpia rpf;fpkpd; tho;f;if NfhL vd;W miof;fpNwhk; 

1) rhq;]; ejp  2) gpukGj;jpuh ejp 

3) B];lh ejp  4) jhh;yh ejp 
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68. Thematic maps are otherwise known as 

1) Photo maps 2) Composite maps 

3) Strategic maps 4) Pictorial maps  

Fwpg;gpl;l fhyj;jpy; cs;s tiuglj;ij GÆÁõÖ miof;fyhk; 

1) Nghl;Nlh ÷©¨ì 2) fhk;Nghl; ÷©¨ì 

3) ];Nul;l[pf; ÷©¨ì 4) gpf;Nlhuy; ÷©¨ì 

69. What is the contour interval on toposheets with a scale of 1:50,000? 

1) 10 metres  2) 20 metres  

3) 50 metres  4) 100 metres  

Nlhg;Ngrl;; msT 1: 50>000 vd;why; mjd; ,ilg;gl;l vy;iyNfhL vt;tsT? 

1) 10 kPl;lh;];  2) 20 kPl;lh;]; 

3) 50 kPl;lh;];  4) 100 kPl;lh;]; 

70. Which of the scales can be understood in every country? 

1) Graphical scale 2) Statement scale   

3) Representative Fraction 4) All of these  

xt;nthU ehLfspy; ve;j msTfis gpd;gw;wgLfpwJ 

1) tiugl msit 2) fzf;F msit 

3) gpujpepjpj;Jtk; tha;e;j msit 4) NkNy Fwpg;gpl;l midj;Jk; 

71. What is the altitude (km) of most of the satellites placed in a sun synchronous polar 
orbit? 

1) 300 to 1,000 2) 6,000 to 9,000       

3) 22,000 to 36,000    4) 30,000 to 36,000       

VTfizapd; xU fpNyh kPl;lh; Ntfj;Jf;F mjDila nrq;Fj;J Nfhl;bd; cauk; ve;j      
mstpw;F rpd;rpq;fpNuh];rpd; Jut kz;lyj;jpw;F xU fpufj;jpd; Rw;Wghijia      
flf;Fk; NghJ mjDila msT vd;d? 

1) 300 to 1,000 2) 6,000 to 9,000       

3) 22,000 to 36,000    4) 30,000 to 36,000      
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72. The first operational Indian remote sensing satellite and the year in which it was 
launched is 

1) INSAT-2D, 1997  2) IRS-1A, 1978  

3) IRS-1A, 1988 4) INSAT-2B, 1993  

G+kpapypUe;J ,af;fg;gLk; njhiyJ}u ,e;jpa VTfizapd; ngah; vd;d? mJ ve;j    
tUlk; Vtg;gl;lJ? 

1) ,d;rhl; -2D 1997 2) I.Mh;.v];; -1 A, 1978 

3) I.Mh;.v];; -1 A, 1988 4) ,d;rhl; -2B 1993 

73. The data that are collected directly in the field is called 

1) Remote sensing data 2) In situ data 

3) Ex situ data 4) Both 2 and 3  

Neubahf VTfizfis fsj;jpy; ,wf;fp mtw;wpypUe;J vLf;fg;gLk; jfty; vit? 

1) hpNkhl; nrd;rpq; Nll;lh 2) ,d;rpl;L Nll;lh 

3) vf;]pl; Nll;lh 4) ,uz;L 2 kw;Wk; 3 

74. What is the conventional level of significance typically adopted in hypothesis testing? 

1) P < 0.05  2) P > 0.005 

3) P > 0.001  4) P > 0.5 

msitapy; Mjhukw;w mDkhd Muha;r;rpia epUgpf;Fk; NghJ kuG msitf;F vt;thW 
Kf;fpaj;Jtk; nfhLf;fpNwhk; vd;gij czh;j;Jf. 

1) P < 0.05  2) P > 0.005 

3) P > 0.001  4) P > 0.5 

75. ERTS-I was launched in 

1) June 1962  2) July  1972 

3) June 1982  4) July 1992  

ERTS – I vg;nghOJ Vtg;gl;lJ? 

1) [{d; 1962  2) [{iy 1972 

3) [{d; 1982  4) [{iy 1992 

————————
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